Series\/

|
%, Tnly)  CONVerge or divege

;I8

Dose

S

if i diverae,s we need

1y
lnlK) ) K lSame,-}hinj Wat divcr&es)
K3In(K) must some point (K22)

VAL

T';" tvelges by dhe plest since p=1<1

¥

2

Soag iveraes }oo by e Comparizon '\'%)'

InlK)

Ex: Dose “i orcton (n) Converges or d‘vergen:7

ns  I+n?

Us-'n\i) limit compurison best: What dominates ?

dfc,-l-an(,ﬂ) T/z
I+ ne n?  Since l+n'2n* for nz)

e W TEn

o ,,iz,, am,i::z'cm Converaes by e Compan'son-]-es‘)‘

UsuB the limik comparison test \ nt

”“ arc4an(n)
14+n?

- |5m "2*L
S | arctanln)

)
- lim nZ+) |z
" Nartanln) A

= - Converaes by the p-test since p=23i,



So +he limi comparison tesk Says

77
|
m-l-arszn) ‘ 2 = d
n=o I+n Converses i n ose

Recall: The Generalized P-Yest

C G+ Qe .. +aN +4,
S bentbh™s rbin+b,  lwhere Ak70 & bi#20)

Converes if p= 1-k>1 and divuaes i P=1-K el
Proof : Usanj He P-test and the limit Comparson Yest

' i L.) _p
We'll Compare -)he,awen seires 4o ot s
Axh5H-0e N 'y .. . raN+Q,

hm bent b nb"’...“'boh +bs.
NSeco '/n’

nP Gxh®+8e.h™'s .. AN +4,
T bunt b h® rbin +be

im Acn'+.. +ah a0t e
2 bont+. .1 b.n +bo \/nt

3

"

"

,\i!:z a‘..t.'a%jﬁ'... 4 %.g - g-s # 0
bu%’;—‘n..*% Yo

@
o & Q'+ Ny . ran+a, Converges or diveges exaclly as
ne beh® by n“*...*bch +b,

2 |
gﬁ does & as F: 1-K >\ (Converoes) or
P=L-K <\ diverges)



